
Adding Doubles Strategy (A)Use an adding doubles strategy to find each sumExample: 8 + 10 = 8 + 8 + 2 = 16 + 2 = 183 + 3 = 8 + 8 = 13 + 14 = 
16 + 14 = 2 + 1 = 1 + 3 = 
8 + 7 = 13 + 12 = 8 + 9 = 
6 + 6 = 5 + 6 = 2 + 4 = 
4 + 5 = 12 + 11 = 6 + 8 = 
17 + 15 = 5 + 3 = 17 + 15 = 
13 + 13 = 10 + 9 = 12 + 14 = 
10 + 9 = 8 + 7 = 4 + 4 = 
10 + 11 = 11 + 11 = 7 + 5 = 
2 + 3 = 10 + 11 = 14 + 14 = 
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Adding Doubles Strategy (A) AnswersUse an adding doubles strategy to find each sumExample: 8 + 10 = 8 + 8 + 2 = 16 + 2 = 183 + 3 = 8 + 8 = 13 + 14 =3 + 3 = 6 8 + 8 = 16 13 + 13 + 1 = 2726 + 1 = 2716 + 14 = 2 + 1 = 1 + 3 =16 + 16 - 2 = 30 2 + 2 - 1 = 3 1 + 1 + 2 = 432 - 2 = 30 4 - 1 = 3 2 + 2 = 48 + 7 = 13 + 12 = 8 + 9 =8 + 8 - 1 = 15 13 + 13 - 1 = 25 8 + 8 + 1 = 1716 - 1 = 15 26 - 1 = 25 16 + 1 = 176 + 6 = 5 + 6 = 2 + 4 =6 + 6 = 12 5 + 5 + 1 = 11 2 + 2 + 2 = 610 + 1 = 11 4 + 2 = 64 + 5 = 12 + 11 = 6 + 8 =4 + 4 + 1 = 9 12 + 12 - 1 = 23 6 + 6 + 2 = 148 + 1 = 9 24 - 1 = 23 12 + 2 = 1417 + 15 = 5 + 3 = 17 + 15 =17 + 17 - 2 = 32 5 + 5 - 2 = 8 17 + 17 - 2 = 3234 - 2 = 32 10 - 2 = 8 34 - 2 = 3213 + 13 = 10 + 9 = 12 + 14 =13 + 13 = 26 10 + 10 - 1 = 19 12 + 12 + 2 = 2620 - 1 = 19 24 + 2 = 2610 + 9 = 8 + 7 = 4 + 4 =10 + 10 - 1 = 19 8 + 8 - 1 = 15 4 + 4 = 820 - 1 = 19 16 - 1 = 1510 + 11 = 11 + 11 = 7 + 5 =10 + 10 + 1 = 21 11 + 11 = 22 7 + 7 - 2 = 1220 + 1 = 21 14 - 2 = 122 + 3 = 10 + 11 = 14 + 14 =2 + 2 + 1 = 5 10 + 10 + 1 = 21 14 + 14 = 284 + 1 = 5 20 + 1 = 21Math-Drills.Com



Adding Doubles Strategy (B)Use an adding doubles strategy to find each sumExample: 6 + 7 = 6 + 6 + 1 = 12 + 1 = 135 + 4 = 8 + 8 = 12 + 12 = 
12 + 12 = 14 + 15 = 14 + 14 = 
14 + 13 = 9 + 9 = 7 + 5 = 
1 + 2 = 2 + 2 = 3 + 2 = 
6 + 5 = 3 + 5 = 15 + 16 = 
12 + 10 = 7 + 7 = 11 + 12 = 
17 + 15 = 10 + 12 = 5 + 4 = 
12 + 11 = 13 + 13 = 3 + 5 = 
7 + 6 = 1 + 3 = 9 + 11 = 
8 + 7 = 6 + 7 = 9 + 8 = 
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Adding Doubles Strategy (B) AnswersUse an adding doubles strategy to find each sumExample: 6 + 7 = 6 + 6 + 1 = 12 + 1 = 135 + 4 = 8 + 8 = 12 + 12 =5 + 5 - 1 = 9 8 + 8 = 16 12 + 12 = 2410 - 1 = 912 + 12 = 14 + 15 = 14 + 14 =12 + 12 = 24 14 + 14 + 1 = 29 14 + 14 = 2828 + 1 = 2914 + 13 = 9 + 9 = 7 + 5 =14 + 14 - 1 = 27 9 + 9 = 18 7 + 7 - 2 = 1228 - 1 = 27 14 - 2 = 121 + 2 = 2 + 2 = 3 + 2 =1 + 1 + 1 = 3 2 + 2 = 4 3 + 3 - 1 = 52 + 1 = 3 6 - 1 = 56 + 5 = 3 + 5 = 15 + 16 =6 + 6 - 1 = 11 3 + 3 + 2 = 8 15 + 15 + 1 = 3112 - 1 = 11 6 + 2 = 8 30 + 1 = 3112 + 10 = 7 + 7 = 11 + 12 =12 + 12 - 2 = 22 7 + 7 = 14 11 + 11 + 1 = 2324 - 2 = 22 22 + 1 = 2317 + 15 = 10 + 12 = 5 + 4 =17 + 17 - 2 = 32 10 + 10 + 2 = 22 5 + 5 - 1 = 934 - 2 = 32 20 + 2 = 22 10 - 1 = 912 + 11 = 13 + 13 = 3 + 5 =12 + 12 - 1 = 23 13 + 13 = 26 3 + 3 + 2 = 824 - 1 = 23 6 + 2 = 87 + 6 = 1 + 3 = 9 + 11 =7 + 7 - 1 = 13 1 + 1 + 2 = 4 9 + 9 + 2 = 2014 - 1 = 13 2 + 2 = 4 18 + 2 = 208 + 7 = 6 + 7 = 9 + 8 =8 + 8 - 1 = 15 6 + 6 + 1 = 13 9 + 9 - 1 = 1716 - 1 = 15 12 + 1 = 13 18 - 1 = 17Math-Drills.Com



Adding Doubles Strategy (C)Use an adding doubles strategy to find each sumExample: 7 + 5 = 7 + 7 - 2 = 14 - 2 = 124 + 5 = 1 + 3 = 12 + 11 = 
8 + 9 = 5 + 7 = 15 + 13 = 
13 + 12 = 12 + 10 = 6 + 7 = 
15 + 15 = 6 + 7 = 9 + 11 = 
14 + 16 = 9 + 9 = 2 + 1 = 
14 + 13 = 8 + 9 = 3 + 5 = 
2 + 2 = 4 + 5 = 12 + 12 = 
3 + 4 = 8 + 7 = 15 + 14 = 
11 + 12 = 3 + 2 = 17 + 15 = 
7 + 7 = 5 + 7 = 11 + 10 = 
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Adding Doubles Strategy (C) AnswersUse an adding doubles strategy to find each sumExample: 7 + 5 = 7 + 7 - 2 = 14 - 2 = 124 + 5 = 1 + 3 = 12 + 11 =4 + 4 + 1 = 9 1 + 1 + 2 = 4 12 + 12 - 1 = 238 + 1 = 9 2 + 2 = 4 24 - 1 = 238 + 9 = 5 + 7 = 15 + 13 =8 + 8 + 1 = 17 5 + 5 + 2 = 12 15 + 15 - 2 = 2816 + 1 = 17 10 + 2 = 12 30 - 2 = 2813 + 12 = 12 + 10 = 6 + 7 =13 + 13 - 1 = 25 12 + 12 - 2 = 22 6 + 6 + 1 = 1326 - 1 = 25 24 - 2 = 22 12 + 1 = 1315 + 15 = 6 + 7 = 9 + 11 =15 + 15 = 30 6 + 6 + 1 = 13 9 + 9 + 2 = 2012 + 1 = 13 18 + 2 = 2014 + 16 = 9 + 9 = 2 + 1 =14 + 14 + 2 = 30 9 + 9 = 18 2 + 2 - 1 = 328 + 2 = 30 4 - 1 = 314 + 13 = 8 + 9 = 3 + 5 =14 + 14 - 1 = 27 8 + 8 + 1 = 17 3 + 3 + 2 = 828 - 1 = 27 16 + 1 = 17 6 + 2 = 82 + 2 = 4 + 5 = 12 + 12 =2 + 2 = 4 4 + 4 + 1 = 9 12 + 12 = 248 + 1 = 93 + 4 = 8 + 7 = 15 + 14 =3 + 3 + 1 = 7 8 + 8 - 1 = 15 15 + 15 - 1 = 296 + 1 = 7 16 - 1 = 15 30 - 1 = 2911 + 12 = 3 + 2 = 17 + 15 =11 + 11 + 1 = 23 3 + 3 - 1 = 5 17 + 17 - 2 = 3222 + 1 = 23 6 - 1 = 5 34 - 2 = 327 + 7 = 5 + 7 = 11 + 10 =7 + 7 = 14 5 + 5 + 2 = 12 11 + 11 - 1 = 2110 + 2 = 12 22 - 1 = 21Math-Drills.Com



Adding Doubles Strategy (D)Use an adding doubles strategy to find each sumExample: 3 + 1 = 3 + 3 - 2 = 6 - 2 = 412 + 14 = 1 + 3 = 10 + 8 = 
10 + 11 = 14 + 13 = 3 + 3 = 
9 + 11 = 5 + 5 = 14 + 13 = 
15 + 14 = 8 + 8 = 6 + 8 = 
7 + 8 = 11 + 12 = 13 + 12 = 
8 + 6 = 16 + 14 = 9 + 10 = 
2 + 3 = 7 + 7 = 5 + 4 = 
5 + 3 = 3 + 2 = 15 + 16 = 
4 + 5 = 11 + 12 = 1 + 2 = 
16 + 15 = 5 + 7 = 10 + 11 = 
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Adding Doubles Strategy (D) AnswersUse an adding doubles strategy to find each sumExample: 3 + 1 = 3 + 3 - 2 = 6 - 2 = 412 + 14 = 1 + 3 = 10 + 8 =12 + 12 + 2 = 26 1 + 1 + 2 = 4 10 + 10 - 2 = 1824 + 2 = 26 2 + 2 = 4 20 - 2 = 1810 + 11 = 14 + 13 = 3 + 3 =10 + 10 + 1 = 21 14 + 14 - 1 = 27 3 + 3 = 620 + 1 = 21 28 - 1 = 279 + 11 = 5 + 5 = 14 + 13 =9 + 9 + 2 = 20 5 + 5 = 10 14 + 14 - 1 = 2718 + 2 = 20 28 - 1 = 2715 + 14 = 8 + 8 = 6 + 8 =15 + 15 - 1 = 29 8 + 8 = 16 6 + 6 + 2 = 1430 - 1 = 29 12 + 2 = 147 + 8 = 11 + 12 = 13 + 12 =7 + 7 + 1 = 15 11 + 11 + 1 = 23 13 + 13 - 1 = 2514 + 1 = 15 22 + 1 = 23 26 - 1 = 258 + 6 = 16 + 14 = 9 + 10 =8 + 8 - 2 = 14 16 + 16 - 2 = 30 9 + 9 + 1 = 1916 - 2 = 14 32 - 2 = 30 18 + 1 = 192 + 3 = 7 + 7 = 5 + 4 =2 + 2 + 1 = 5 7 + 7 = 14 5 + 5 - 1 = 94 + 1 = 5 10 - 1 = 95 + 3 = 3 + 2 = 15 + 16 =5 + 5 - 2 = 8 3 + 3 - 1 = 5 15 + 15 + 1 = 3110 - 2 = 8 6 - 1 = 5 30 + 1 = 314 + 5 = 11 + 12 = 1 + 2 =4 + 4 + 1 = 9 11 + 11 + 1 = 23 1 + 1 + 1 = 38 + 1 = 9 22 + 1 = 23 2 + 1 = 316 + 15 = 5 + 7 = 10 + 11 =16 + 16 - 1 = 31 5 + 5 + 2 = 12 10 + 10 + 1 = 2132 - 1 = 31 10 + 2 = 12 20 + 1 = 21Math-Drills.Com



Adding Doubles Strategy (E)Use an adding doubles strategy to find each sumExample: 9 + 11 = 9 + 9 + 2 = 18 + 2 = 203 + 3 = 9 + 11 = 11 + 12 = 
4 + 5 = 7 + 8 = 13 + 14 = 
16 + 15 = 5 + 6 = 3 + 2 = 
10 + 10 = 15 + 14 = 7 + 7 = 
2 + 4 = 2 + 1 = 16 + 15 = 
8 + 10 = 5 + 3 = 6 + 4 = 
6 + 7 = 9 + 10 = 12 + 14 = 
13 + 14 = 10 + 8 = 5 + 6 = 
11 + 12 = 10 + 12 = 14 + 14 = 
12 + 13 = 1 + 1 = 7 + 6 = 
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Adding Doubles Strategy (E) AnswersUse an adding doubles strategy to find each sumExample: 9 + 11 = 9 + 9 + 2 = 18 + 2 = 203 + 3 = 9 + 11 = 11 + 12 =3 + 3 = 6 9 + 9 + 2 = 20 11 + 11 + 1 = 2318 + 2 = 20 22 + 1 = 234 + 5 = 7 + 8 = 13 + 14 =4 + 4 + 1 = 9 7 + 7 + 1 = 15 13 + 13 + 1 = 278 + 1 = 9 14 + 1 = 15 26 + 1 = 2716 + 15 = 5 + 6 = 3 + 2 =16 + 16 - 1 = 31 5 + 5 + 1 = 11 3 + 3 - 1 = 532 - 1 = 31 10 + 1 = 11 6 - 1 = 510 + 10 = 15 + 14 = 7 + 7 =10 + 10 = 20 15 + 15 - 1 = 29 7 + 7 = 1430 - 1 = 292 + 4 = 2 + 1 = 16 + 15 =2 + 2 + 2 = 6 2 + 2 - 1 = 3 16 + 16 - 1 = 314 + 2 = 6 4 - 1 = 3 32 - 1 = 318 + 10 = 5 + 3 = 6 + 4 =8 + 8 + 2 = 18 5 + 5 - 2 = 8 6 + 6 - 2 = 1016 + 2 = 18 10 - 2 = 8 12 - 2 = 106 + 7 = 9 + 10 = 12 + 14 =6 + 6 + 1 = 13 9 + 9 + 1 = 19 12 + 12 + 2 = 2612 + 1 = 13 18 + 1 = 19 24 + 2 = 2613 + 14 = 10 + 8 = 5 + 6 =13 + 13 + 1 = 27 10 + 10 - 2 = 18 5 + 5 + 1 = 1126 + 1 = 27 20 - 2 = 18 10 + 1 = 1111 + 12 = 10 + 12 = 14 + 14 =11 + 11 + 1 = 23 10 + 10 + 2 = 22 14 + 14 = 2822 + 1 = 23 20 + 2 = 2212 + 13 = 1 + 1 = 7 + 6 =12 + 12 + 1 = 25 1 + 1 = 2 7 + 7 - 1 = 1324 + 1 = 25 14 - 1 = 13Math-Drills.Com



Adding Doubles Strategy (F)Use an adding doubles strategy to find each sumExample: 9 + 8 = 9 + 9 - 1 = 18 - 1 = 178 + 10 = 2 + 1 = 8 + 8 = 
7 + 5 = 11 + 13 = 7 + 6 = 
15 + 17 = 14 + 16 = 5 + 7 = 
4 + 6 = 3 + 3 = 4 + 4 = 
13 + 13 = 11 + 10 = 3 + 5 = 
7 + 8 = 13 + 14 = 12 + 11 = 
12 + 13 = 11 + 10 = 14 + 15 = 
2 + 2 = 1 + 3 = 9 + 9 = 
9 + 9 = 13 + 12 = 3 + 2 = 
6 + 8 = 7 + 8 = 15 + 17 = 
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Adding Doubles Strategy (F) AnswersUse an adding doubles strategy to find each sumExample: 9 + 8 = 9 + 9 - 1 = 18 - 1 = 178 + 10 = 2 + 1 = 8 + 8 =8 + 8 + 2 = 18 2 + 2 - 1 = 3 8 + 8 = 1616 + 2 = 18 4 - 1 = 37 + 5 = 11 + 13 = 7 + 6 =7 + 7 - 2 = 12 11 + 11 + 2 = 24 7 + 7 - 1 = 1314 - 2 = 12 22 + 2 = 24 14 - 1 = 1315 + 17 = 14 + 16 = 5 + 7 =15 + 15 + 2 = 32 14 + 14 + 2 = 30 5 + 5 + 2 = 1230 + 2 = 32 28 + 2 = 30 10 + 2 = 124 + 6 = 3 + 3 = 4 + 4 =4 + 4 + 2 = 10 3 + 3 = 6 4 + 4 = 88 + 2 = 1013 + 13 = 11 + 10 = 3 + 5 =13 + 13 = 26 11 + 11 - 1 = 21 3 + 3 + 2 = 822 - 1 = 21 6 + 2 = 87 + 8 = 13 + 14 = 12 + 11 =7 + 7 + 1 = 15 13 + 13 + 1 = 27 12 + 12 - 1 = 2314 + 1 = 15 26 + 1 = 27 24 - 1 = 2312 + 13 = 11 + 10 = 14 + 15 =12 + 12 + 1 = 25 11 + 11 - 1 = 21 14 + 14 + 1 = 2924 + 1 = 25 22 - 1 = 21 28 + 1 = 292 + 2 = 1 + 3 = 9 + 9 =2 + 2 = 4 1 + 1 + 2 = 4 9 + 9 = 182 + 2 = 49 + 9 = 13 + 12 = 3 + 2 =9 + 9 = 18 13 + 13 - 1 = 25 3 + 3 - 1 = 526 - 1 = 25 6 - 1 = 56 + 8 = 7 + 8 = 15 + 17 =6 + 6 + 2 = 14 7 + 7 + 1 = 15 15 + 15 + 2 = 3212 + 2 = 14 14 + 1 = 15 30 + 2 = 32Math-Drills.Com



Adding Doubles Strategy (G)Use an adding doubles strategy to find each sumExample: 9 + 7 = 9 + 9 - 2 = 18 - 2 = 1615 + 16 = 9 + 10 = 12 + 10 = 
12 + 12 = 4 + 4 = 3 + 3 = 
7 + 6 = 7 + 9 = 14 + 13 = 
4 + 2 = 3 + 5 = 4 + 6 = 
8 + 9 = 14 + 16 = 13 + 11 = 
11 + 12 = 1 + 2 = 15 + 17 = 
1 + 1 = 2 + 3 = 16 + 14 = 
7 + 5 = 9 + 8 = 14 + 12 = 
13 + 13 = 8 + 7 = 9 + 9 = 
11 + 10 = 6 + 6 = 7 + 5 = 
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Adding Doubles Strategy (G) AnswersUse an adding doubles strategy to find each sumExample: 9 + 7 = 9 + 9 - 2 = 18 - 2 = 1615 + 16 = 9 + 10 = 12 + 10 =15 + 15 + 1 = 31 9 + 9 + 1 = 19 12 + 12 - 2 = 2230 + 1 = 31 18 + 1 = 19 24 - 2 = 2212 + 12 = 4 + 4 = 3 + 3 =12 + 12 = 24 4 + 4 = 8 3 + 3 = 67 + 6 = 7 + 9 = 14 + 13 =7 + 7 - 1 = 13 7 + 7 + 2 = 16 14 + 14 - 1 = 2714 - 1 = 13 14 + 2 = 16 28 - 1 = 274 + 2 = 3 + 5 = 4 + 6 =4 + 4 - 2 = 6 3 + 3 + 2 = 8 4 + 4 + 2 = 108 - 2 = 6 6 + 2 = 8 8 + 2 = 108 + 9 = 14 + 16 = 13 + 11 =8 + 8 + 1 = 17 14 + 14 + 2 = 30 13 + 13 - 2 = 2416 + 1 = 17 28 + 2 = 30 26 - 2 = 2411 + 12 = 1 + 2 = 15 + 17 =11 + 11 + 1 = 23 1 + 1 + 1 = 3 15 + 15 + 2 = 3222 + 1 = 23 2 + 1 = 3 30 + 2 = 321 + 1 = 2 + 3 = 16 + 14 =1 + 1 = 2 2 + 2 + 1 = 5 16 + 16 - 2 = 304 + 1 = 5 32 - 2 = 307 + 5 = 9 + 8 = 14 + 12 =7 + 7 - 2 = 12 9 + 9 - 1 = 17 14 + 14 - 2 = 2614 - 2 = 12 18 - 1 = 17 28 - 2 = 2613 + 13 = 8 + 7 = 9 + 9 =13 + 13 = 26 8 + 8 - 1 = 15 9 + 9 = 1816 - 1 = 1511 + 10 = 6 + 6 = 7 + 5 =11 + 11 - 1 = 21 6 + 6 = 12 7 + 7 - 2 = 1222 - 1 = 21 14 - 2 = 12Math-Drills.Com



Adding Doubles Strategy (H)Use an adding doubles strategy to find each sumExample: 5 + 4 = 5 + 5 - 1 = 10 - 1 = 913 + 13 = 11 + 9 = 10 + 11 = 
4 + 3 = 7 + 5 = 10 + 8 = 
10 + 8 = 1 + 1 = 4 + 3 = 
17 + 15 = 6 + 4 = 13 + 15 = 
4 + 2 = 8 + 7 = 5 + 6 = 
15 + 14 = 12 + 13 = 12 + 11 = 
13 + 11 = 9 + 11 = 4 + 5 = 
8 + 6 = 2 + 2 = 14 + 14 = 
12 + 10 = 15 + 17 = 6 + 8 = 
13 + 12 = 7 + 7 = 3 + 1 = 
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Adding Doubles Strategy (H) AnswersUse an adding doubles strategy to find each sumExample: 5 + 4 = 5 + 5 - 1 = 10 - 1 = 913 + 13 = 11 + 9 = 10 + 11 =13 + 13 = 26 11 + 11 - 2 = 20 10 + 10 + 1 = 2122 - 2 = 20 20 + 1 = 214 + 3 = 7 + 5 = 10 + 8 =4 + 4 - 1 = 7 7 + 7 - 2 = 12 10 + 10 - 2 = 188 - 1 = 7 14 - 2 = 12 20 - 2 = 1810 + 8 = 1 + 1 = 4 + 3 =10 + 10 - 2 = 18 1 + 1 = 2 4 + 4 - 1 = 720 - 2 = 18 8 - 1 = 717 + 15 = 6 + 4 = 13 + 15 =17 + 17 - 2 = 32 6 + 6 - 2 = 10 13 + 13 + 2 = 2834 - 2 = 32 12 - 2 = 10 26 + 2 = 284 + 2 = 8 + 7 = 5 + 6 =4 + 4 - 2 = 6 8 + 8 - 1 = 15 5 + 5 + 1 = 118 - 2 = 6 16 - 1 = 15 10 + 1 = 1115 + 14 = 12 + 13 = 12 + 11 =15 + 15 - 1 = 29 12 + 12 + 1 = 25 12 + 12 - 1 = 2330 - 1 = 29 24 + 1 = 25 24 - 1 = 2313 + 11 = 9 + 11 = 4 + 5 =13 + 13 - 2 = 24 9 + 9 + 2 = 20 4 + 4 + 1 = 926 - 2 = 24 18 + 2 = 20 8 + 1 = 98 + 6 = 2 + 2 = 14 + 14 =8 + 8 - 2 = 14 2 + 2 = 4 14 + 14 = 2816 - 2 = 1412 + 10 = 15 + 17 = 6 + 8 =12 + 12 - 2 = 22 15 + 15 + 2 = 32 6 + 6 + 2 = 1424 - 2 = 22 30 + 2 = 32 12 + 2 = 1413 + 12 = 7 + 7 = 3 + 1 =13 + 13 - 1 = 25 7 + 7 = 14 3 + 3 - 2 = 426 - 1 = 25 6 - 2 = 4Math-Drills.Com



Adding Doubles Strategy (I)Use an adding doubles strategy to find each sumExample: 8 + 7 = 8 + 8 - 1 = 16 - 1 = 1516 + 14 = 16 + 15 = 5 + 4 = 
5 + 4 = 9 + 8 = 9 + 8 = 
3 + 2 = 5 + 3 = 3 + 5 = 
12 + 12 = 6 + 6 = 13 + 15 = 
13 + 14 = 11 + 10 = 11 + 13 = 
8 + 7 = 2 + 3 = 5 + 5 = 
7 + 5 = 7 + 6 = 13 + 12 = 
3 + 1 = 15 + 15 = 3 + 1 = 
11 + 13 = 12 + 10 = 14 + 14 = 
11 + 9 = 9 + 11 = 9 + 7 = 
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Adding Doubles Strategy (I) AnswersUse an adding doubles strategy to find each sumExample: 8 + 7 = 8 + 8 - 1 = 16 - 1 = 1516 + 14 = 16 + 15 = 5 + 4 =16 + 16 - 2 = 30 16 + 16 - 1 = 31 5 + 5 - 1 = 932 - 2 = 30 32 - 1 = 31 10 - 1 = 95 + 4 = 9 + 8 = 9 + 8 =5 + 5 - 1 = 9 9 + 9 - 1 = 17 9 + 9 - 1 = 1710 - 1 = 9 18 - 1 = 17 18 - 1 = 173 + 2 = 5 + 3 = 3 + 5 =3 + 3 - 1 = 5 5 + 5 - 2 = 8 3 + 3 + 2 = 86 - 1 = 5 10 - 2 = 8 6 + 2 = 812 + 12 = 6 + 6 = 13 + 15 =12 + 12 = 24 6 + 6 = 12 13 + 13 + 2 = 2826 + 2 = 2813 + 14 = 11 + 10 = 11 + 13 =13 + 13 + 1 = 27 11 + 11 - 1 = 21 11 + 11 + 2 = 2426 + 1 = 27 22 - 1 = 21 22 + 2 = 248 + 7 = 2 + 3 = 5 + 5 =8 + 8 - 1 = 15 2 + 2 + 1 = 5 5 + 5 = 1016 - 1 = 15 4 + 1 = 57 + 5 = 7 + 6 = 13 + 12 =7 + 7 - 2 = 12 7 + 7 - 1 = 13 13 + 13 - 1 = 2514 - 2 = 12 14 - 1 = 13 26 - 1 = 253 + 1 = 15 + 15 = 3 + 1 =3 + 3 - 2 = 4 15 + 15 = 30 3 + 3 - 2 = 46 - 2 = 4 6 - 2 = 411 + 13 = 12 + 10 = 14 + 14 =11 + 11 + 2 = 24 12 + 12 - 2 = 22 14 + 14 = 2822 + 2 = 24 24 - 2 = 2211 + 9 = 9 + 11 = 9 + 7 =11 + 11 - 2 = 20 9 + 9 + 2 = 20 9 + 9 - 2 = 1622 - 2 = 20 18 + 2 = 20 18 - 2 = 16Math-Drills.Com



Adding Doubles Strategy (J)Use an adding doubles strategy to find each sumExample: 4 + 6 = 4 + 4 + 2 = 8 + 2 = 105 + 3 = 9 + 11 = 11 + 13 = 
2 + 2 = 5 + 6 = 10 + 9 = 
13 + 13 = 11 + 13 = 10 + 12 = 
2 + 1 = 4 + 6 = 15 + 17 = 
15 + 15 = 14 + 14 = 12 + 12 = 
7 + 6 = 3 + 4 = 15 + 14 = 
8 + 10 = 13 + 13 = 2 + 1 = 
12 + 14 = 8 + 9 = 8 + 7 = 
10 + 12 = 4 + 4 = 7 + 5 = 
7 + 7 = 8 + 6 = 4 + 2 = 
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Adding Doubles Strategy (J) AnswersUse an adding doubles strategy to find each sumExample: 4 + 6 = 4 + 4 + 2 = 8 + 2 = 105 + 3 = 9 + 11 = 11 + 13 =5 + 5 - 2 = 8 9 + 9 + 2 = 20 11 + 11 + 2 = 2410 - 2 = 8 18 + 2 = 20 22 + 2 = 242 + 2 = 5 + 6 = 10 + 9 =2 + 2 = 4 5 + 5 + 1 = 11 10 + 10 - 1 = 1910 + 1 = 11 20 - 1 = 1913 + 13 = 11 + 13 = 10 + 12 =13 + 13 = 26 11 + 11 + 2 = 24 10 + 10 + 2 = 2222 + 2 = 24 20 + 2 = 222 + 1 = 4 + 6 = 15 + 17 =2 + 2 - 1 = 3 4 + 4 + 2 = 10 15 + 15 + 2 = 324 - 1 = 3 8 + 2 = 10 30 + 2 = 3215 + 15 = 14 + 14 = 12 + 12 =15 + 15 = 30 14 + 14 = 28 12 + 12 = 247 + 6 = 3 + 4 = 15 + 14 =7 + 7 - 1 = 13 3 + 3 + 1 = 7 15 + 15 - 1 = 2914 - 1 = 13 6 + 1 = 7 30 - 1 = 298 + 10 = 13 + 13 = 2 + 1 =8 + 8 + 2 = 18 13 + 13 = 26 2 + 2 - 1 = 316 + 2 = 18 4 - 1 = 312 + 14 = 8 + 9 = 8 + 7 =12 + 12 + 2 = 26 8 + 8 + 1 = 17 8 + 8 - 1 = 1524 + 2 = 26 16 + 1 = 17 16 - 1 = 1510 + 12 = 4 + 4 = 7 + 5 =10 + 10 + 2 = 22 4 + 4 = 8 7 + 7 - 2 = 1220 + 2 = 22 14 - 2 = 127 + 7 = 8 + 6 = 4 + 2 =7 + 7 = 14 8 + 8 - 2 = 14 4 + 4 - 2 = 616 - 2 = 14 8 - 2 = 6Math-Drills.Com
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